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vector

int
[T11]
vector<int> v1; g
vector<int> v2(n); i NITTTTTIITT
vector<int> v3(n,value); [T NI
vector<int> vé4(start,end); //[ start] end[] int*[ITTTI111]
vector<int> v5(v4); Zannnnnnnnny vA[IT]

vector<int> v6={1,2,3,4,5}; //[IIII11]

[TI]  vector [TTTTTITIIIIIIII

vector<inr> v1={1,2,3},v2={4,5,6},v3; //[11]

v3.assign(n,value); i n[] value[IIT]

v3.assign(vl.begin(),v1l.end()); /i V1[I

v3=vl; /0 vidg v3gn =0
vl.swap(v2); /0 vl v2

[IT1T]

vector.size();//ITT111
vector.empty();//ITIITIN
vector.resize(n);//TTTTTIT] NI T I I

value

start] end[TITTTITITITITIT]

V3T

vector.resize(n[] value);//TTII1I1T] NI value[ITITIIIII

vector.clear();//111]

[ITIT]
vector [TTTTTTTITTTTTTITIIIIT]

vector[n]; /OO T

vector.at(n); //vector[T] at[IIIIIIL

NLLITITTTTIIT]

for(vector<int>::iterator it=vector.begin();it!=vector.end();it++){ /10

cout< <*it;



[ITITITT

vector.push_back(value);//O111] value

vector.pop_back();//ITTTIITIIIIIIIT]
vector.erase(pos);//[T] posII] 1T pos[ITITT]

vectot.insert(pos,value);//] pos[IITIT] value[TTTITIIIIIII
vectot.insert(pos,n,value);//[J pos[I1[] n[] value[IIIl]

vectot.insert(pos,begin,end);//[] posI11] [begin,end)ITIIITIT]

vector [TT11]

10 (Il  vecror<int>v={1,2,3,4} []

begin() T vio] ]

end() T T vi4] ]
rbegin() (EARNARNARNRRNRRNNE vi3l

rend() T T I vi-1100

vector [TTTT1T]
vector T

[0 insert(pos,value) [TTTITITITT] vector [] pos [TTTITITIIT] it=v.insert(n,value);
(I \



deque

deque [T] vector

vector [TTTT1T]

[TITTT]

deque.push_front(value);//1] u[ll] value

deque.pop_front();//IITITTIIIIIIIIT]
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list

listTTTTTT]
list<int> 11; /IO
list<int> 12(5); [IOIIII0
list<int> 13(5,9); /IO
list<int> 14={1,2,3,4,5}; //IIII10J

list<int> 15(14); [T

[T

list.push_front(0); //[1]

list.push_back(6); //M
list.pop_front(); /010
list.pop_back(); /10

[T

list.front(); /OO
list.back(); /IO

front() [] back() (TTTTTTITITITITI

list.front()=1; /0TI
list.back()=2; /IO

[IT]
ist (LTI

list [ITTTTTITT]

begin()
end()

rbegin()

ST
ST

O[] int[11T]
9
102030405

(OO it+5 )OI (M it++)

I  list<int> v={1,2,3,4} []

(NEARNARNANNRRNRNND viol [J

T T T

ARRRNRNRNRNRNARANAN vi31[]

vi4] [J



00 I  list<int> v={1,2,3,4} []

rend() T I vi-11 0




